Telangana State Council Higher Education

Notations :

1.0ptions shown in green color and with #" icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Question Paper Name:

Subject Name:

Creation Date:

Duration :

Total Marks :

Display Marks:

Calculator :

Magnifying Glass Required? :
Ruler Required?:

Eraser Required?:

Scratch Pad Required?:

Rough Sketch/Notepad Required? :

Protractor Required?:

Show Watermark on Console? :
Highlighter :

Auto Save on Console?

Change Font Color:

Change Background Color :
Change Theme:

Help Button:

Show Reports :

Agriculture and Medical 10th May 2023 Shift
1

Agriculture and Medical
2023-05-10 14:55:21
180

160

No

None

No

No

No

No

No

No

Yes

No

Yes

No

No

No

No

No



Show Progress Bar :

Group Number :

Group Id :

Group Maximum Duration :

Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time :

Group Marks :

Is this Group for Examiner?:

Examiner permission :

Show Progress Bar?:

Section Id :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :

Sub-Section Number :

Sub-Section Id :

No

Agriculture and Medical

1
28393626
0

180

No

No

160
No
Cant View

No

Botany

28393689

1

Online
Mandatory
40

40

40

Yes

0
1

28393689



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 1 Question Id : 2839364001 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

1BoB °¢3Q 2355800
List-1 List-11
DEIE 1 HEE 11
A  Nostoc I Plasmodium
oS Peis leTowwle
B Mpycoplasma [  Auxospores
DS T @816
C Diatoms [I1  Witches broom
e oW AP 00(SHS DYKEL
D Sporozoan IV Heterocyst
SASEANT TR
Options :
28393616001, * A — Il B-1V, -1 D-1I
28393616002, % A — 11, B — 11I, C-1V, D -1
28393616003, v A — 1V, B — 111, C-11, 151
28393616004. ¥ A =1V, B — 111, C-1, D11

Question Number : 2 Question Id : 2839364002 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Female sex organ in Polysiphonia of Rhodophyceae
FED FODHEIH S | NBoAE Do 1690
Options :

Spermatia
— 2
28393616005, % 020D

Carpogonium
28393616006, ¥ S"OIFNADO

Cystocarp
2
28393616007, ¥ OS0)

Archegonium
5
»8393616008. * LNDFIAD0

Question Number : 3 Question Id : 2839364003 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Capsule producing spores and Pseudo-elaters are found in

28D zren BN I RSB ErdFfoBoth HPED BAS® KHR0HSD)
Options :

Funaria
28393616009, % D§POCH

Marchantia
L]
28393616010, ¥ S0°07 00D



Anthoceros
28393616011, ¥ SOB TR

Sphagnum
28393616012, % ~AI20

Question Number : 4 Question Id : 2839364004 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : Most of the algal genera have haplontic life cycle

Reason (R) : Fucus show diplontic life cycle
RPIH0 (A)  : eb¥ Fde (HDeréhen DEves 2D SEod ¥ Hoeraw
580 (R) 1 HFER 300 pe3¥ 24ed Sfo Sy

The correct option among the following is
& (8060 DO IFOS HOTPIA

Options :

(A) and (R) are true. (R) 1s the correct explanation for (A)
28393616013, * (A) DO (R) DOID. (A) § (R) SO0 DISe

(A) and (R) are true, (R) is not the correct explanation for (A)
28393616014, ¢ (A) 08O (R) SOGAD 5°Q (A) § (R) S8 3863 5°¢0

(A) is true but (R) is false
28393616015, % (A) QB0 A (R) &3

(A) 1s false but (R) 1s true
28393616016, * (A) ©3) 5°Q (R) Q80

Question Number : 5 Question Id : 2839364005 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Example for asymmetric flower

DR IBaTh0O IO GO
Options :

Gulmohar
28393616017, % (DO SWID

Cassia

=]
28393616018, % S OOD

Canna

28393616019, ¥ 52

Pea
28393616020, % TS

Question Number : 6 Question Id : 2839364006 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following

1B0A 73 23€53 8000
List —I List —II
DEIE 1 HEE 1
A Monoecious plant I Cycas
S 5OomrFoD sy RS
B Vivipary II  Liverworts
Da)ard (FEres )A5S) 5858
C Gemma III Rhizophora
N, BE TS
D Heterogametes IV Chara
£e5) HOTIH Deen Sile)
Options :
28393616021, * A—1I, B — 111, € -1, D1V
28393616022, # A —11I, B-1V, C-1I, D-1I
28393616023, ¥ A—1V, B - III, C-1, D1l
28393616024. v A — 1V, B 111, C-11, DI

Question Number : 7 Question Id : 2839364007 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Select the correct statements

RO a5 aded)) Teddadld
| Ovary, style and stigma are united in Hibiscus.

DR S0 ®oEIcho, §e0 HB0% Ser|fio Soatnso
Il Loranthus show ategmic ovule

E5090e7es @omen trNd S'Trodh

111 Geitanogamy 1s genetically similar to autogamy
DES9EDEHTH DO 205D esedy DTMIN0NG)0 S0E3E

IV Entry of Pollen tube through the micropyle is called Mesogamy
QT H0 02 S0150 HOE |DJF0TD DB S5 DOTrHo 0ty

Options :

ITand IV
28393616025, % II 8w IV

| and II
28393616026, ¥ 1 s0&a%w I

I and 111
28393616027. ¢ 1l s08ckw 111

111 and TV
28393616028, # III OB IV

Question Number : 8 Question Id : 2839364008 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Eichhornia hydrophyte exhibits epihydrophylly
Reason (R)  : Pollination occur either by entemophilly or anemophlly in Eichhornia
B0 (A) 1 eI ¥ 0N @l £ 20 ST HONBL0 & (N80

2800(R) 808 H07K H0HE)0 Bre FOM DT H0DEL0 T 00 0§B) AR
20 023830 28 Heh

The correct option among the following is

& 800 DO IFOS SO

Options :

(A) and (R) are true. (R) 1s the correct explanation for (A)
28393616029, * (A) 0BAM (R) DO, (A) 8 (R) HOT DadSed

(A) and (R) are true, but (R) 1s not the correct explanation for (A)
28393616030, ¥ (A) DO (R) SOTDA, 5% (A) § (R) SO DedOED 570

(A) 1s true but (R) 1s false
28393616031, * (A) Q20 5%V (R) &y

(A) 1s false but (R) 1s true
28393616032, ¢ (A) 833 5 (R) d2z0

Question Number : 9 Question Id : 2839364009 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Floral formula of Allium cepa

@OCHO VD a3 DOBehd

Options :

Br Ebrl @ $ s Rig B
28393616033. ¢ 3) 3+3 =



Br Ebr]l & $ P33 As Gg

(3+3 3 =(3)

28393616034, #

Br Ebrl @6 B Aj; Gg
28393616035. #

| el
Br Ebrl & P Ag GO
28393616036. *

Question Number : 10 Question Id : 2839364010 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Medicinal plant of Solanaceae

O LA I
Options :

Atropa
28393616037, v O

Petunia
28393616038, % @EISACD

Cestrum
28393616039, ¥ LNV

Scilla
=]
28393616040, ¥ V&



Question Number : 11 Question Id : 2839364011 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the correct matching

DO 25D o) Fadbeln
List-1 List-11 List-I11
HESE HEE I HE I
A Endoplasmic reticulum P Singer + Nicolson W Secretion
@00 896§ 2730 2045 + A IS [R3%a50
B Ribosomes Q Palade X Protein synthesis
DS Herd 1938 HoBaen
C Cell membrane R Porter Y Fluid mosaic model
geaed tdadn vgole) JronG Jwerons
e
Options:
28393616041, v A-R-W B-Q-X C-P-Y
28393616042, % A-R-W B-P-Y C-Q-X
28393616043, * A-P-W B-Q-X C-R-Y
28393616044, ¥ A-P-W B-R-X C-Q-Y

Question Number : 12 Question Id : 2839364012 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following

1508 e3Q 2edHGhan
Cell name Shape
Eeasdaaat 5G9
A White blood cells I Elongated
BOGE Segren RN
B Mesophyll cells I Round and biconcave
D E0edS SeTren MDOICR) DBAIW Y5 Y
C Red blood cells Il Amoeboid
| &8 Eeren 29002 HOE3D
D Tracheid IV Round and oval
SO EEIIN (OISR DO @OTES*Gedd
Options :
28393616045. % A — 111, B-1, C-1v, D-1I
28393616048, v A — 11, B-1V, C-1i, D-1

Question Number : 13 Question Id : 2839364013 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Functions not related to cytoskeleton
¥69 @0J0880 Ko NoBodS0 52 (§aen

L. Mechanical support
asro|es esgrdo

I1. Cell motility
889 oS0

III.  Cytokinesis
SR {ATNTEA AN

IV.  Intracellular transport
Eegr0edQed Soen

Options :

| and 11
28393616049, # I <08adkw II

[, I and 111
28393616050, # I, 11 <00 III

11 Only
28393616051, v L1 (&

Il and IV
28393616052, # 1II 083w IV

Question Number : 14 Question Id : 2839364014 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Suitable stage to observe chromosome 1s metaphase
Reason (R)  : In metaphase chromosomes are scattered in cytoplasm
D50 (A)  : [FEFD HOFOSH s0BED &% e9:0Z SO

5800 (R)  : s0d50 B34S ) Enads50SS BUrEdymron

The correct option among the following is
& 1808 0 )50 HOTIE

Options :

A and R are true. R is correct explanation of A
28393616053, ¥ A a0 R QODAIG. A § R S8 158€9

A and R are true, but R is not correct explanation of A
28393616054, % A «08A R SOTAD, 55 A § R SO daGed 57w

A 1s true and R 1s false
28393616055, ¢ A POQDIG NOGID R &y)

A 1s false and R 1s true

28393616056, % A ©3) NOW R A8DSH

Question Number : 15 Question Id : 2839364015 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following

1508 a7¢3R) 235D 8N
List — I List —II
HE3E 1 HE3E — 11
A Glutamic acid I Aromatic amino acid
MErS esedo 085¢38 oS eseo
B Lysine 11 Neutral amino acid
TS S S’ e3eo
i Valine 111 Basic amino acid
TOS 58 S €00
D Tyrosine AY Acidic amino acid
BODS AE S edo
Options :
28393616057, * A~ 1L, B-1I, C-1V, D~
28393616058, v A~ 1V, B —1IL, C-IL, D-1
58393616050, % A — 1V, B —III, i D-II

Question Number : 16 Question Id : 2839364016 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

1808 °¢3R) 2500w
List -1
HEIE |
A Crossing over
D)o ONO
B Synapsis
Qoredadniio
C Weakening of synaptonemal complex
RTRASTS H08R DOLTNSHE
D Terminalisation
Yo INVENTo - folon)
Options :
28393616061, ¥ A — 1V, B — III,
28393616062, # A — 111, B-1V,
28393616063, ® A —1I, B — 111,
28393616064, % A —1, B-1V,

[l

[11

IV
C -1
C 11,
SES
C—1

List —II
DE3E 11
Diakinesis
(o o VVESINTN TN
Diplotene
&3S
Zygotene
BFe3S
Pachytene
838

D-1IV

D —1II

Question Number : 17 Question Id : 2839364017 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Conjoint, collateral and closed vascular bundles are found in

DOTKNE, JT 85 HOAW HoBe V5 Yozren D3 KebRoDSTH)

Options :

Monocot root
28393616065, * &S DS



Monocot stem
28393616066. ¢ JES¢ Das sr0cho

Dicot root
58393616067, % OO Das &

Dicot stem
-8393616068. * O5&% des 0o

Question Number : 18 Question Id : 2839364018 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following characters are found in Hydrilla stem
AT SFOB0 SO BN e3S° SRS ©F eren
I Arenchyma
N VWIS e TRl B8]

1 Sunken stomata
A2 | So|TTren

IT1 Palisade tissue
02 EeTei @

AY Xylem cavity
08030

Correct answer 1s
PleloMINESIN VI miNTe)
Options :

| and 11
28393616069, ¥ 1 2086w Il

land IV
28393616070, ¢ [ s08ck IV



Il and IV
28393616071, # III 06D IV

IV only
28393616072, % 1V &r(&bad

Question Number : 19 Question Id : 2839364019 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

1808 ¢8R 2e8HBTSW
Table — 1 Table — II
D38 — 1 DEE 11
A Potassium I Constituent of ferredoxin
SPErA0D0 DOFE IR @ DNE0
B Sulphur I Necessary in stomatal movement
D)6 2|5E0(A VOTRE @IS0
C Molybdenum [1 Needed for auxin synthesis
SO S0 @838 D0 @3B0
D Zinc A% Component of nitrogenase
208 TE'BTR 9D0EIESN
Options :
28393616073, # A— “L. B - [.. C—1II. D-1V
28393616074, % A1, B-1V, C-1IL D -1
28393616075, v A~ 11, B-1, C-1V, D -1l

28393616076, * A — 11, B-1, " 3 3 9 |



Question Number : 20 Question Id : 2839364020 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following enzymes belong to class 6 Ligases?
SEKE 6 BABD K TOAS OB DE?

Options :

Glutamine synthetase
28393616077, ¢ WETDS VOB

Hexokinase
= &
28393616078, % &S ABR®

Malate dehydrogenase
28393616079, * SISO QEFBAET

Arginosuccinase
s, |
28393616080, % @RV VEIVD

Question Number : 21 Question Id : 2839364021 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
To reduce 1 COz in C; cycle assimilatory power needed is

C3 35009065 1 COz & §ourE80500e%0 9350800 Jsofisse $8

Options:

28393616081. ¥ 2 ATP+3 NADPH+H"

28393616082, # 6 ATP +2 NADPH+H™



28393616083, # 5 ATP + 2 NADPH+H"™

28393616084. ¢+ 3 ATP +2 NADPH+H™

Question Number : 22 Question Id : 2839364022 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Krebs’s cycle, reaction representing substrate level phosphorylation is
EARD oW 5855 @HINETE FFIOBAM & QORI

Options :

128393616085, * G3p — 1,3 DPGA

Succinyl CoA = Succinic acid
28393616086, ¢ 8IS CoA — 88 esho

Succinic acid — Fumaric acid
28393616087, % 0505 @NO = H5NOE a0

a — ketoglutarate — Succinyl CoA
28393616088, % @ — SETHErBES - 8IS CoA

Question Number : 23 Question Id : 2839364023 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Select the correct combination

OGN 225D D) Fadedn
Role Positive Negative
o7 €5 Gared 50 220£7°¢8 50
I Apical dominance Auxin Cytokinin
@|mO¥se @8)d DEBIS
Il Seed germination Ethylene ABA
DS @OoFBE AOOS
11 Seed dormancy ABA Ethylene
DB TSR AOOS
A% Senescence ABA Gibberellin
oL 22)08s
Options:
I and II

28393616089. # I s08csw II

I, 11 and I1I
28393616090 * L, Il <080 111

I1T and IV
28393616091, # III so&ai» IV

I, IL, III and IV
28393616092, + 1, 11, III 08050 IV

Question Number : 24 Question Id : 2839364024 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the photosynthesis of C4 plants the first 4 carbon compound is formed by the
following reaction

885023095 DO 180T Cq T0% S rentd 810 B0 03850 1808 585508
8368008

Options :

Decarboxylation of pyruvic acid
28393616003, % ROTDE e 50 )8 BAS

Carboxylation of PEP
28393616094, v PEP 5078848

Oxidation of malic acid
28393616095, % DOF & @8 356e0

Oxidative decarboxylation of malic acid

28393616006, % LOT LD A5o)8HBAS

Question Number : 25 Question Id : 2839364025 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ATP formed by electron transport system in aerobic respiration from coenzymes

formed in one Kreb’s cycle

FONNeTeS T2 (8D’ 2.8 1825 SO0H0 T 50° 8IS FA0BD) DO TS SaFer
50 0100 ATP © oo

Options:

28393616097, # 11

28393616098, # 15



28393616099, ¢ 14

28393616100, # 28

Question Number : 26 Question Id : 2839364026 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Abscission of flowers and leaves is caused by
SYarIen 80k dEFen Trendd & EeniHT OO

Options :

28393616101. ¥ ABA

Ethylene
28393616102, ¥ OOS

28393616103, ¥ GA

Auxin
28393616104, % @8I

Question Number : 27 Question Id : 2839364027 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Acetobacter is a pleomorphic bacteria

Reason (R) : Acetobacter changes shape depending on environment and
nutrient availability

DR350 (A) 1 ©E2rED 2.8 DFrSr0)8 eri0aH
5820 (R)  © H038 OGN FFAse ©25:0 263 e eSzrsd esom)
AT H00EToN

The correct option among the following is
& 808 9D IO HOTSO

Options :

(A) and (R) are true. (R) is the correct explanation for (A)
28393616105, ¢ (A) 0BAW (R) SO, (A) § (R) SO DSGE

(A) and (R) are true, but (R) 1s not the correct explanation for (A)
28393616106, * (A) <0OAW (R) SOQDS, 5% (A) § (R) SO eSS 57

(A) is true but (R) is false
28393616107, * (A) Q20 5°Q (R) &)

(A) 1s false but (R) 1s true
28393616108, % (A) &) 5 (R) Q20

Question Number : 28 Question Id : 2839364028 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Symmetry of complex virus

5080 BED PRS0
Options :

Spherical
28393616109, % (VOGO

28393616110.



Helical
% 0)OO0

Polyhedral
28393616111, ¥ DJVEV

Bilateral
28393616112, % Q5650

Question Number : 29 Question Id : 2839364029 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Study the following tables and match the correct combination for the dihybrid F»

progeny

HEEe 000 B 550586 Fr H0SS 9350080 TR DO 2365 ek Frddad

Genotype Phenotype Genotypes Number
20§ 80 Q3 8r00 2NETIe DODS
I YYRr Yellow round 2
2eds 0B
Il Y Rr Yellow round ]
Qedday) OB
11 yyRR Green round 4
@500 MO[Lsma)
A% yyRr Green round 2
S0V HOBRR
Options:
[T and IV

28393616113. # III 8aw IV

Il and IV
28393616114, # Il S08asw IV



[ and I
28393616115. ¥ [ a08acw 11

land IV
28393616116, ¢ 1 s0OC IV

Question Number : 30 Question Id : 2839364030 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Sickle cell anemia is an example of

5558 &ea 58575¢8 (DES DS @ANAST) AR STrde
Options :

Chromosome mutation
28393616117, % |5 PP Cred 3058

Point mutation
28393616118, ¥ DOCD &858

(Genetic recombinations
28393616119, # 20§ e LOOIT25°eD

Environmental effect
28393616120, % €358 DD

Question Number : 31 Question Id : 2839364031 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Term linkage was coined by
DTN € DR, T DEOODSE
Options :

Mendel
28393616121, ¥ OGO

Sutton
28393616122, % RS

Morgan
28393616123, ¥ ST

Boveri
28393616124, % & =0

Question Number : 32 Question Id : 2839364032 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

1BO& a3 236 DT
Table -1 Table - II
HEE - 1 HEIE - 11
A AUG | Phenyl alanine
TS ®OIR
B UAA 11 Methionine
WAOVAD
£ Uuu 111 Tryptophan
AL
D UGG AY End codon
@0 S

Options :



28393616125, % A — 111, B I, C-1, D-1V

28393616126, % A —1l, B — III, C-1V, '
28393616127. v A — 11, B-1V, QAN D -1
28393616128, * A —1I, B-1V, C-III, D=1

Question Number : 33 Question Id : 2839364033 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Below Diagram shows important concept of genetic implication of DNA. Fill in the
blanks A, B, C

K5 D E8a300/ DN B.0DD.). TIVEY. AVWEDOND BeddE DY DELOD TAFEYed
A, B, C 27905 o0

e g
;f; i Proposed by
/ 4 : WAt AN
DNA A m RNA B Proteins * :
(\ 5.055.9 7 || sBOHSD G0N c 7
\'x_____,J
Options:
A) Transcription - B) Translation — C) Crick
98393616129, ¢ eSO ® IO |88
A) Translation — B) Extension — C) Franklin
28393616130, ¥~ ©VTOO &r&hod @08
A) Transcription - B) Replication — C) Watson



A) Translation - B) Transcription — C) Chargaft
28393616132, %  ©VIQ0 OOSPS0 5T

Question Number : 34 Question Id : 2839364034 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Polymerisation of amino acids to form polypeptide is called as
TOVRE JT°YENH S’ BT FADLVEAS & BT ey
Options:

Transcription
28393616133, ¥ &OSPI0

Translation
28393616134, ¥ @DI0

Translocation
28393616135, % & 0S5

Keto acylation
28393616136, % 56 SPVBAS

Question Number : 35 Question Id : 2839364035 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Genetic codon AUG i1s
230005 0038650 ((e350) AUG 2.8

I. Initiator codon
l*S02) |80

I1. Codon for Methionine
WHTHRAS (8380

[11.  Stop codon
eV (380

V. Sigma factor
T 578650

Correct answer 1s
Pl [oMINESIN VI AN NIV
Options:

I and Il
28393616137. ¢ 1 00aw 11

| and 111
28393616138. % I 08a III

IT and 111
28393616139, # Il s0aw 111

Il and IV
28393616140. # Il 0805w IV

Question Number : 36 Question Id : 2839364036 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Disaccharide Lactose on hydrolysis forms galactose and glucose. The enzyme related is

Br506 erfR 20 3080 Bod Mo e SHOAM HPER & 8500, 5025008 JoBD
Options :

Lactase

.
28393616141, # erER



Permease
L= =
28393616142, % 00D

Transacetylase
28393616143, % QIS

- galactosidase

—] .
28393616144, v B — TOS DAV

Question Number : 37 Question Id : 2839364037 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Separated bands of DNA are cut out from the agrose gel and extracted from gel piece.

This 1s known as

SHTS A.0DS.Q 200D PR BS S0E)000 OO )8 SATED. HAY
Qer @otrd

Options :

Elution
28393616145, ¥ VOTFAR

Spooling
28393616146, ¥ DOBET®

Centrifugation
28303616147, % OE3SAAS

Detergent lysis
28393616148, ¥ BLTOL DDIXL0



Question Number : 38 Question Id : 2839364038 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Arrange the three steps of PCR each cycle in sequence
FONTD TS BOITFES (D SHEOS' L5 B3 SENE0S” @085

| Denaturation
Al faraa 8800

Il Extension of primers

|00 GR0y

1 Primer annealing
2SIGT | NB)

IV DNA Ligation
B3.00®.2) BA®

Options:

I. 111 and 11
28393616149, ¢ I, 111 s08akw 11

I1, TIT and IV
28393616150, # 11, III soBadw IV

I. IT and 111
28393616151, * L, 1T <00aw 111

IV, Il and 1
28393616152, % 1V, Il s08asw 1

Question Number : 39 Question Id : 2839364039 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Sonalika is high yielding and disease resistant variety of this crop
@58 BHDA HOWW T30 VTLES §6)S FordE & Hody B%o
Options :

Rice
28393616153, # o0

Wheat
28393616154, ¢ DGO

Ground nut
28393616155, # 20330

Maize
28393616156, % 205 T)

Question Number : 40 Question Id : 2839364040 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Statins are produced by Monascus purpureus and it is a

TR ) EFroBOTHNE BVTRER 2DoJ 0 2.5

Options :

Algae
28393616157, % 320VO0

Bacteria
28393616158, % 2T HOOST

Virus
.
28393616159, % SO



Y east
F.
28393616160, ¢ S

Zoology
Section Id : 28393690
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 28393690
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 41 Question Id : 2839364041 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The cleavage pattern in Deuterostomia is

=iy ESSEQééhdﬂﬁﬁﬁ 207 DE¥bo

Options :

28393616161. *



Spiral & determinate

ﬁﬁ;.e: & K}U;ﬁé

Spiral & indeterminate

28393616162, % ® & ©TTOS

Radial & indeterminate

58393616163, v T8 & ©NT0E

Radial & determinate

58393616164, % Z505 & 50

Question Number : 42 Question Id : 2839364042 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The first National Park in India 1s

B8R EoS® DBYED an%ams& 8% a8),
Options :

Jim Corbett National Park

28393616165, v B2 S 8D )

Kasu Brahmananda Reddy National Park

28393616166, s (pdsols BE B a5

Kaziranga National Park

28393616167, % PESOM 8D 8



Keoladeo Ghana National Park

28393616168, % ADBrerl@r e erdOH aﬂﬁé

Question Number : 43 Question Id : 2839364043 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The type of epithelium that is found in proximal convoluted tubule of nephron is
Are %0 DN H50H8S Fos® EIN0T GuisEeSBmErw0
Options :
Simple squamous epithelium

28393616169, ¥ 0¥ SR a5

Simple cuboidal epithelium
28393616170, ¢ 0¥ 0TS0 GOEE

Simple columnar epithelium
28393616171, % V0¥ QOgFs*S a8

Simple glandular epithelium
28393616172, % “0¥ [fod ad8¥

Question Number : 44 Question Id : 2839364044 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Cells involved in mineralisation and demineralisation of the bone respectively

are called

Qs @Bwe) LG DO Plere 5% Fhe08° SBDT FS'T Seren



Options :

Osteoblasts and osteocytes

2 = . D AT
28393616173, % PRETEERen $OEn SRETPE)

Osteoclasts and osteoblasts

= o (==
28393616174, % SRETTERLD DO SHATERED

Osteoblasts and osteoclasts
28393616175, v CRETEEZED O eRrgEHen

Osteocytes and osteoblasts
28393616176, % CRETRE) DO sRHATLEZen

Question Number : 45 Question Id : 2839364045 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Cardiac muscle cells are
?"chﬁciﬁa Eoild Boren [ET GOLFOD
Options :

Short, cylindrical and mononucleate or binucleate

28303616177, v 8 SpErsorr, 2880 Sw BEogtorT

Short, cylindrical and enucleate

28393616178, # g, Jparsdorr, Bo|BESarsorr

Long, cylindrical and multinucleate

58393616179, ¥ S ERM, Sparseborr, advsocaindorr

28393616180.



Short, fusiform and mononucleate
“ @“é&m, B Hé@‘\@@ﬁ. % Bo|Eorr

Question Number : 46 Question Id : 2839364046 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The produce of cellular wear and tear that accumulate in the cyton of a

neuron are termed
BAKNE Fen b En Do DHE) Swgres.
Options :

Nissl bodies

28393616181, % VNS VoY

Lipofuscin grannules
28393616182, v 25 TH0S DewHen

Terminal boutons
28393616183, % €08 ST

Neuro fibrils
18393616184, ¥ & SodiHen

Question Number : 47 Question Id : 2839364047 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The kinds of nephridia of earthworm that sent out the nitrogenous waste

through anus are

SPCAS0) TR (gl Sporedd e Hon aeddrhne HF), Bsren
Options :

Integumentary and septal nephridia

28393616185, % Ta PUOGO) SRTEEER HyRcs

Pharyngeal and integumentary nephridia
28393616186, % (TN 00D &yl Hsmen

Pharyngeal and septal nephridia

28393616187, ¢ (1530 HBAsn Derascing BNSPIY

Integumentary, pharyngeal and septal nephridia

-8393616188. % &, (119 Hobakn Dgresdcing 350

Question Number : 48 Question Id : 2839364048 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following
(Bob ardR sahtsod

List—1I List—1II
A Ctenophora I Triploblastic and acoelomates
Astroe BR08 S0Batn 4B KR8 60
B Nematoda II Lasso cells and bioluminescence
I erRFSeren SBdh &5 S0l
C Platyhelminthes III Renette gland and radial symmetry
TS TOPOD B3 1H06 S0k SOdh Rrabo
D Echinodermata IV Adults radial symmetry, larvae bilateral symmetry
a@ﬁsﬁfg&}n Brc Ao aprd Arado, Godimen O fard) s FRR0

V Renette gland and amphids
834 (fod B0 sopk e

Options :

28393616189, * A—1V, B-1, C -1, D-V
28393616190, % A — I, B —1I, C-L D-1V
28393616191, v A — 11, BN, C-1, D-IV
28393616192, % A — 11, B -1IIl, C-1Vv, D-V

Question Number : 49 Question Id : 2839364049 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following
1Boh B 28D8808

A. Ascidia I. Lamprey
) atorrs a0
B. Petromyvzon II. Lancelet
DS DS SBES
C. Myxine III. Tunicate
D)5 SV
D. Branchiostoma IV. Slime eel
(erPOS TR DaD oS
V . Shark
FSTDH
Options :

28393616193, # A-Il, B-1V, C-V, D-lI

28393616194, # A-III, B-I, C-II, D-IV

28393616195, v A-1II, B-1, C-IV, D-II

28393616196, * A-Il, B-1V, C-IlI, D-V

Question Number : 50 Question Id : 2839364050 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Mammary glands are modifications of

Esros® Bbothen D3 trarosto
Options:

28393616197.



Sebaceous glands
% DO (foghben

Scent glands
28393616198, % TR (foen

Ceruminous glands
28393616199, ¥ EFDAN (HHogben

Sweat glands

28393616200, v 3 Hoghen

Question Number : 51 Question Id : 2839364051 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Increase in the number of cells in the host due to parasite

D912 H50 ewaBond e Hows @HESSS0
Options :

Neoplasia
28393616201, % VATEEVA®

Hyperplasia
28393616202, ¥ T B0LRAI

Hypertrophy
28393616203, ¥ FoOE"®

Gigantism
28393616204, % wds*ché



Question Number : 52 Question Id : 2839364052 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
World Malaria day celebrated on

%o HPedse Eb;‘éﬁiﬁraaﬁo 289%T e

Options :
25% March
th
28393616205, * 22 Q)
25" April

th
28393616206, ¥ 29" DDS

20" August

=~nyth o
28393616207, % 20 €Y

20™ September

th=.=
28303616208, % 20 RRo®E

Question Number : 53 Question Id : 2839364053 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Read the following statements regarding Wuchereria bancrofti and find the correct ones

&508atr aro(Sy Howofodd Bod @oTed $68D0D $BS RegraeR) HBodol

A. Wuchereria exhibit sexual dimorphism
8808afe Bons BrEER (HK56%008

B. It belongs to the class Phasmidia
26 rRG0sr Derrrld Bodls

C. [t 1s commonly called hook worm
B9 Ferdmore 5ol HHh ©otrd

D.  Itis very common in tropical countries
30 &3 Jored® 58 Fgrbmore 560D Hotwod

Options :

28393616209. # A & C

28393616210. ¥ B & C

28393616211. ¢ A,B& D

28393616212. # B,C & D

Question Number : 54 Question Id : 2839364054 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Marijuana,hashish,charas and ganja are

Sretarae, Seam, S8R, Howron ©3D
Options :

Opioids
28393616213, # addiran&es



Cannabinoids
28393616214, ¥ Sardiranien

Amphitamines
5
28393616215, % SBODEITS €0

Barbiturates

28393616216, % “-QEOE

Question Number : 55 Question Id : 2839364055 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Statement — I: Habitat 1s a place in which organism lives.

Statement — II: The functional role of an organism in an ecosystem is called niche.
040 - I: Z500 ASF0T 2.8 e Froerd) 80 ©0erd)

2070 -II: 2,8 H5r206S 2ayen B 00T (BO5redE aP|ehed AT 90erdd

The correct option among the following is
5808 2O FOS HOTSE

Options :

Both statements I & I are true
28393616217, v ©@OT0 [ & 11 TS

Both statements | & 1l are false
28393616218, * ©OT [ & 11 DT 5°)

Statement [ 1s true but statement 11 1s false
28393616219, % @030 [ OBAG, 5 Il 0BG 570

28393616220. #



Statement [ i1s false but statement 11 1s true.
@030 [ R0 5°C0, 5 @030 I A8 AE&.

Question Number : 56 Question Id : 2839364056 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

[dentify the denitrifying bacterium
D ESe0 288090 & HBoBod
Options :

Nitrosomonas
28393616221, % SIEFITTR

Nitrobacter
28393616222, * SUSrED

Nitrococcus
28393616223, * DUSTER

P.E'E’Hdﬂ.ﬁ'i‘l’?ﬂfiﬁ'
28393616224, ¥ &I

Question Number : 57 Question Id : 2839364057 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the interspecies relationship in which one organism is harmed while other
remains unatfected

& 859 0088 e SEE° 2.8 428 Ko, Dot €8 oo Bre Sio GoKEd

Options :



Commensalism

28393616225, % Vard wsEo

Parasitism

28393616226, % 2O &T0

Predation
28393616227, % SOPEEST0

Amensalism
28393616228, ¥ SSOVDE0

Question Number : 58 Question Id : 2839364058 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the following

A. Diapause I. Changing body shape according to seasons

B. Conformers II. Organisms are able to maintain homeostasis

C. Regulators ITII. Animals cannot maintain a constant internal environment
D. Cyclomorphosis V. State of inactiveness to avoid unfavourable environmental

conditions

(806 aré) eddaidoiiiain

A. GairarR L Seded ot 468 efyad dsrdien

B. e9:508m:550e0 L A3 o S SHEREY sarHE0Ero

C. Daho|gisren III. a0®HHon el %ﬂﬁ@_}é w0sl rErber) SO 0 )
D. |58 &rid D8 IV. esdgro 56960 d9oDHTSto o WS 28
Options :

28393616229, % A-l,  B-lII, C-II, D-IV



28393616230, ¢ A-1V, B-IlI, C-II, D-I

28393616231, # A-1l, B-I, C-IlI, D-IV

28393616232, * A-IV, B-1I, C-I, D-III

Question Number : 59 Question Id : 2839364059 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Human dentition is described as

S5 Sod D) (Bob DFore HHJB

Options :

Thecodont, Heterodont, Monophyodont
28393616233, % (1803, DANS0E, JETF S50

Acrodont, Homodont, Diphyodont
28393616234, % BIR08, ING0S, & §3°EH0e3

Thecodont, Homodont, Diphyodont
78393616235, * (10083, dedoe, &S0

Thecodont, Heterodont, Diphyodont
28393616236, ¢ (13A08, DANG0S, & s7dcdoed

Question Number : 60 Question Id : 2839364060 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Arrange the following sphincters from the anterior to posterior part of alimentary canal

Bob Sobmed sfdedo @nE) rdserio Sob Hdario S vged

a. External anal sphincter
e Jrai S0kt
b. Cardiac sphincter

el fottel]

C. Pyloric sphincter
388 DB H0GE

d. Internal anal sphincter
@08 ol Hokbed

Options :

28393616237. ¢ b, ¢, d, a

28393616238, * 4, d, b, ¢

28393616239, % C, a, b, d

28393616240, ® b, a, ¢, d

Question Number : 61 Question Id : 2839364061 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Adam’s apple i1s the mid ventral prominence
BED) Bhd &2 ass oGy grrio
Options :

Arytenoids cartilage

28303616241, % “OBTONE dyte



Cricoid cartilage

28303616242, % ESOE By

Corniculate cartilage

&1 Ing el N )
28393616243, % SOETE Hvoy

Thyroid cartilage

o 2
28303616244, v BTOWE EYHSH

Question Number : 62 Question Id : 2839364062 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The cardiac output is 5250 ml per minute, with 75 heart beats per minute in a person. The
stroke volume 1s

DI T5 Fsad HotiSes® Apapds 5250 D.O Hch JenHBodH S B @vg)

o8N 508 H:res0.
Options :
28393616245, ¥ 70 ml
28393616246. ¥ 75 ml

28393616247. % 80 ml

28393616248, # 85 ml

Question Number : 63 Question Id : 2839364063 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the incorrect match

Bod >BE® HBs 2ehd MHBood

Options :

- Glomerular filtration

Bowman’s capsule
) rrelo

=
28393616249, % & OR) 1088 )

Distal Convoluted Tubule - Absorption of glucose
28393616250, v SFT $0388 o - Kt awy) 8%

Concentration of urine

Henle’s loop
- Sorl@o GnE) rEs

28393616251, % 2N 8550

Absorption of Na™ and K™ 1ons

Proximal Convoluted Tubule -
FPAAHO, PEraaHo esohHd Fam

28393616252, % HEpYD So5dE o¥o

Question Number : 64 Question Id : 2839364064 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following
180& 3R 23805508

A. Bowmans capsular hydrostatic pressure I. 60 mmHg
S 1P wedsE dikdo

B. Net filtration pressure II. 18 mm Hg
Q88 SuE HisSo

L, Glomerular hydrostatic pressure [1I. 32 mm Hg
1) e0d88 bisdo

D. Glomerular colloidal osmatic IV.2 mm Hg

pressure

58 Ferond e7¢38 acdo

V. 10 mm Hg

Options :
28393616253, # A-II B-V C-111 D-1
28393616254, # A-V B-II C-1 D-111
28393616255, ¢ A-Il B-V C-1 D-II1
28393616256, % A-Il B-V C-1 D-1V

Question Number : 65 Question Id : 2839364065 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Thin filament of myofibril is made up of

Soi8 Jrf) o EwE), FHO Vrben BT I EHHE oW
Options:

28393616257.



Actin and Myosin
% O8S, HATRHS

Actin , Tropomyosin and Troponin

28393616258, ¥ “B (EPDTRS, (5°REDS

Actin , Tubulin and Troponin

58393616250, % Vv ETgEDS, (RIS

Myosin and Tropomyosin
28393616260, % DAFRS, ETFDIRE

Question Number : 66 Question Id : 2839364066 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The area of retina of human eye which contain only cones is

37569 §0e3S°Q T HereroS FomseTren Sy &0 o
Options :

Blind spot
28393616261, % OO ¥

Scala media
28393616262, % 4T AP

Fovea centralis
28393616263, ¢ AT VORFOR

Macula
28393616264, % STFET



Question Number : 67 Question Id : 2839364067 Question Type : MCQ Option Shuffling : Yes
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Choose incorrect pair,

2050 @é woth8®od

Options:

Natural active acquired immunity — Small Pox
58393616265, % 023 (8T esges BUITEHES — DD

Natural passive acquired immunity — Colostrum
28393616266, % a2 VP e3P FHATEES — Sw|oaren

Artificial active acquired immunity - antivenin
28393616267 ¢ SIS (8airder BHATEES — Aol DS

Artificial passive acquired immunity - antirabis
28393616268, % S8 VP &0 TAITEGES — Aroe3BAD
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Assertion (A) : Interferons are the type of proteins produced by body cells
infected by bacteria
Reason (R) : Interferons protect neighbouring cells from infections

A0 (A) : moebRoRw erdbie Soghen Srw 668 T2 By

o0 (R) : motaborRen SRENDDN) Sererd Jofdhen Hod BEon
The correct option among the following is

& 808 DD ITOS HOTIO

Options :

A & R are true. R is the correct explanation of A
28393616269, # A.R e ﬁ&@.’)?ﬁ;}. ASHR ﬁ@@.’l?ﬁ S5%en

A & R are true, but R is not the correct explanation of A
28393616270, % A, Reo $8G@5d, 520 A & R 380 d5te 5o

A is true but R is false

A 1s false but R 1s true
28393616272, v A HOEHB 520, == R $og%6
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Which of the following statements are true regarding thyroid
ol a‘ﬂéaja?meﬁﬁ goronG® Homofod) S8 a8 HBodol

A.  Hormone produced by thyroid is responsible for regulation of basal metabolic rate
gorond S5 et EX(8ah B dahaBHot

B.  Hormones T3 & T4 have opposite effect.
T3 & T4 005 en S8 55808 ehen Dyiearon

C.  Thyroid is a bilobed gland present in neck.
Ewodse Goront (1105 BES® Hotwod

D.  Thyroid is “W” shaped gland.
goeang ‘W' ws6s (iod

Options :

28393616273. ¥ A& C

28393616274. ¥ B& D

28393616275, # A, B& D

28393616276. ¥ A & B
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This hormone 1s not secreted by human placenta

e Jjﬁﬁéﬁ Sm5s mTedingg olf (BDodd 28
Options :

Human chorionic gonadotropin
28393616277, % SPSH doraingd AeG (E*HS



Prolactin
28393616278, v &8

Estrogen

28393616279, % SHELED

Progesterone
28393616280, % ETERTD
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Which of the following depicts the correct pathway of transport of sperms

Bod &E® DB HEmre HDS Sarer SPo
Options :

Rete testis - Vasa efferentia - Epididymis -Vas deferens

58393616281, v OB 0o - HE TPEen ~ ILAZHH - HETLE

Rete testis - Epididymis - Vasa efferentia - Vas deferens

58303616280, % OB Ewio - DEZDE - HE e - HETL

Vasa efferentia - Rete testis- Vas deferens-Epididymis

58393616283, % DETLE - B8 Hofo - HE & - HAZDH

Epididymis - Vasa efferentia -Rete testis- Vas deferens

28393616284, # SREEDE - DETLEe - 0D Snfo - HE FHE
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Given below 1s a list of few sexually transmitted infections. Identify the diseases caused
by bacteria among these.

8ot 5% Bohsore Koighod wotn amythe wrdier mipdod. dBE® erfbate Sy &7)

E‘gcﬁm}ﬁ) foBodol

1 Gonorrhoea
K36

1. Giardiasis
ACTPBATHS

11l Trichomoniasis
BEErAERRS

iv.  Chlamydiasis
AN

2 Syphilis
N20H

Options :

28393616285, # 1 & 1i

28393616286, ¢ 1, IV& V

28393616287, # 111 & v

28393616288, 11, 11 & iV
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Assertion (A) : In honey bees drone has no father but has grand father
Reason (R) : Drones develop by parthenogenesis from ova.

D80 (A) : F38Ke (50 S08 G0k 59 oo Gotrd
s8es0 (R) : (BRen womre $Hod odas edbo oo @f5He Sothzeow.

The correct option among the following is
& 80O 0050 HOTDIE
Options :

(A) and (R) are true, (R) is the correct explanation of (A)
28393616289, ¢ (A) (R) &0 $8G5D, (A) & (R) $8aHs5 D586

(A) and (R) are true, but (R) is not the correct explanation of (A)
28393616290 % (A): (R) &0 Bokr $6@$D, 0 (A) & (R) $0@S 958w =2

(A) is true but (R) is false
28393616291, % (A) $6GHB, 0 (R) SoGHE =5

(A) 1s false but (R) 1s true

Question Number : 74 Question Id : 2839364074 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The mamn function of polymerase chain reaction 1s

FOLTE Hove S8 B DY
Options:

Transduction

28393616203, % &5 REFRO

28393616294. ¥



DNA amplification
DNA &erbes E8ea0

Translation
28393616295, % VTG0

DNA digestion

28393616206, % DNA 8o s%5to
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Down’s syndrome is due to
&8 o5 sebmo
Options :

Trisomy of 21* chromosome
28393616297, ¢ 21 & E*3r&*S B

Tetrasomy of 22" chromosome
28393616208, ¥ 225 Eare’S BErdt

Polysomy of 9" chromosome
28393616299, % 9% E'arE S FOIED

Monosomy of 215t chromosome
18393616300, % 21 3 E°3r&'S IS P
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The development of resistance to DDT by mosquitoes is an example of
DDT 8 &0en Q8% $8 598 Bns'Sto A8 so-rde

Options :

Directional selection
28393616301, ¥ OF A0S SO0

Stabilising selection
78393616302, * »038ed Sbeao

Disruptive selection
28393616303, ¥ VWIB S8€0

Genetic drift
28393616304, ¥ 260§ DAV
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Who experimentally proved that “inheritance of acquired characters™ suggested by
Lamarck to be false

eriied), oD ‘©d8 Mhere wdSodEd ko sl (BArMESorr AEFRDN F(Peptd
Options :
Darwin

28393616305, ¥ SO0

August Weismann

=
28393616306, v &R ISEFS



De vries
28393616307, % &IOS

Haeckel
28393616308, # rEd

Question Number : 78 Question Id : 2839364078 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To destroy cancer cells that have moved to other parts of the body the following therapy
1s useful

Birodts iy @rozre DIBODD 5‘5?5‘35 depord ko S0hTR8 8 O8av dgrido
Options:

Radio therapy
28393616300, % OGO D8E)

Bio therapy
B
28393616310, % &0 D58)

Chemo therapy

Sy
28393616311, ¢ OPODR D8&)

Biotechno therapy

28393616312, % £ 0SBE D8
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The first clinical gene therapy was performed to cure

SnQFEE ey DEG) & 5O VT Geady 20000

Options:

28393616313. ¢ SCID

28393616314, # AIDS

Phenylketonuria
28393616315, ¥ VO SENridair

Sickle cell anaemia
28393616316, * St Sea 88 ayrsed
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The type of EEG waves recorded in persons who are mentally very active and tense are
SRRSO 27 (SOSFFO0MTD), 2888 &) HOS §390T EEG $domren
Options:

Beta waves
28393616317, ¥ 2&F SS0ren

Alfa waves
28393616318, ¥ &) SOOMTeD

Theta waves
28393616319, % &&r Sdorren



Delta waves
28393616320, % B¢ SJormren
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[f two rods of lengths 13.244 cm and 11.2 cm are joined end to end, then their combined

length to appropriate significant figures is

Feyen 13.244 cm 605 11,2 cm e Boch @0 2.8 i DS HOTE 7 DS
095 5B 0O 86 rchey AN Y8 oo SE%

Options:

28393616321.



% 24.444 cm

28393616322, * 24.44 cm

28393616323, ¥ 24.4 cm

28393616324, % 2.444 cm
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The dimensional formula for the expression = .

[h - Planck’s constant, v - frequency, m - mass and c - speed of light in vacuum]

hzv2

2
J3rd30 || Tg) DBAH e

14—
mc‘z

[h - P08 N0°0%0, V - T8N0, M - (955 073, ¢ - Fg AErdE0S 5708 SB)]
Options :

11 -2m—2
28393616325. # [M L™T™7]

~112m—2
28393616326. # [M LT ]

1122
28393616327. ¢ [M LT ]



214774
28393616328. # [M L*T ]
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The velocity of a projectile at the initial point A is (4? + 5;) ms™', as shown in the given
figure. Its velocity at the point B (in ms™')

50 506 S Desom 8O s A S (%o Ay Hsw (4 +5] ) ms',

B e ¢ R Sk (ms™! o)

Y

Options :
28393616329, % 41 + 5]
28393616330, ¢ 41 — 5]

28393616331, ® —4i — 3]

28393616332, % —4i + 5]
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A stone dropped freely under gravity covers distances hi, ha and hs in the first 5 seconds,

the next 5 seconds and the next 5 seconds respectively. The relation between hy, hy and

hs 1s

DISIT OGNS 2.8 Tow G 5 VEDOS’, ShaFs 5 VEDOS HOBK &
SEFd § VEDOS’ (HOIPBoDS ArdSsnen hy, hy HB0H hs @S hy, hy SO hs
© oG 00N

Options :

28393616333, # h, = 3h, and h; = 3h,

28393616334, % h; = h, = h;

28393616335, ¥ N1 = 2hy; = 3h;

hy =2 =
28393616336. ¥ 3 5
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A simple pendulum executes simple harmonic motion about x = 0 with an amplitude

“a’ and time period ‘T". The speed of the pendulum at displacement x = % will be

i

2§ @30 FoEn X =0 H80m ‘2’ F05 HODS DO ‘T’ &38% Te0d S8
: a
FOre5 8 00 TAS) B, F|2S0dw, x= = 5O 8 Sl 36

Options :

nay3

28393616337. # 2T

28393616338, # T

3nla

28393616339. # T

nay/3

28393616340. ¢ T
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A block slides down a rough inclined plane of angle of inclination *0” with a constant

velocity. If it 1s pushed up the same plane with an initial velocity ‘v’, then the distance
travelled by the block up the plane before coming to rest is

o0 §e0 ‘07 &) 8 Fen $00 2 2.8 AR 8 IS 2rBH08. TR, BT S0
28 O Ko 'V & BB, A0 B8 ST 08 Seons HAFB0D Erdsw

Options:



vZ

28393616341, v 48Sin6
VZ

28393616342, * 28Sin6

vE

gsinb
28393616343, *

4y

28393616344, % §Sin0O
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When a body is projected vertically up, at a point ‘P’ in its path, the ratio of potential energy

to kinetic energy is 2:3. If the same body is projected up with double the previous velocity,
the ratio of potential energy to kinetic energy of the body, at the same point ‘P" is

A8 VYT D8 (830 TS S8 TR HG0D P’ @9 Hochay 5O Yz, fees $5e
AN 2:3. T S:HR0 0B (H§ N0 T IR 505y Ko 1H§ N0 T, o ‘P’
0de) Q) Y&z, fedes Fhe NS

Options :

28393616345, ¥ 2:25

28393616346, ¢ 119



28393616347, % 29

28393616348, % 4:9
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Two identical balls A and B moving with velocities +0.8 ms™ and -0.3 ms! respectively
collide headon elastically. The velocities of A and B after collision respectively are
5%dm+0.8 ms” 08w -0.3 mst Fred HONS) 28 DD A 805N B &F ok
2060 0E” S0 Ped 8 ©EATB0 ToOS, @920 Sared A HBAN B Smren
ST

Options :

—03ms™ . +0.8ms™
28393616349, «

+0.5ms?, +0.8ms™

28393616350. #

—04ms?, +0.3ms™
28393616351, #

—1 _1
78393616352, % +0-8ms™ . —0.4ms
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A circular plate of uniform thickness has a radius of 14 cm. A circular portion of diameter
21 cm is removed from one edge from the plate as shown in the figure. If *0’ is the centre

of mass of the complete plate, then the distance of centre of mass of remaining portion from

‘018

D508 5080 Ko 2.8 S9Eed Hof arzrdo 14 om HOSHS Srdd B 21 cm
50 o) 9Ted 2P e )T T0 D08 2.8 @00k SORomrd. W0 el
1835073 30[Bai ‘0" Dohe) 3G @onad, ‘0" DoY) 0w O 7o 13073 3o\
Ardo

Options :

28393616353, % J cM

28393616354, ¥ 9 cm

28393616355, ¢ 4.5 ¢m

28393616356, % -2 €M
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A circular iron disc ‘X" has a radius ‘R’ and thickness ‘t’. Another circular iron disc “Y”
has a radius 4R and thickness ‘t/4’. If ‘Ix’ and ‘Iy’ are their moments of inertia about
their geometrical axes respectively, then the relation between Iy’ and ‘Iy’ is

2.8 2 9@ 8 YY) X argar@edn ‘R’ 000D s0en ‘t EQ&08. HTE 9ehad
S9T=8 O Y rgardain 4R’ 0050 H0dw ‘14’ &6, 76 ech oFe
DO0TP 236565 ¢ (27050 AT ‘Iz’ 000N Iy’ @00 a7ed DB N000

Options :
28393616357, ® 1¥ = 32Ix
28393616358, % ¥ = 16lx

28393616350, % 1¥ = Ix

28393616360, v 1¥ = 04lx
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An Aluminium wire of length one meter and diameter 2 mm is stretched to increase its

length by Q cm with a force of 10 N. Young’s modulus of the material of the wire is
T

2.8 O £PEY HOCH 2 MM )0 Ko eexrsdAGNO0 B8 TAFEHS DEHEE

0 em &0% S0 10N 2008 aridd. of Serdo T, cHof Heasdwn
T

Options:

28393616361, * 10" Nm™



28393616362, * 10" Nm™

10 Sy
28393616363, ¥ 107 Nm

28393616364, ¢ 10° Nm”~
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Consider the following statements and choose the correct option
A: Geostationary satellites are used for remote sensing of earth

B: Polar satellites are used for environmental studies of earth

1808 550D HHA0D) , MOV DAY, JochFod

A: Zrardd en|fisfod S ad 637 dR)oh FEEH SNTrATd

B: (005 & ere 257 20¢d Horedden @¢3:0980 §E%) erdd3riardd
Options :

Both A and B are true
28393616365, # A, B @0 D0Gr Sedgaiw

A 1s true but B 1s false
28393616366, % A 05550 7R B @9d¢h 5550

B 1s true but A 1s false
18393616367, ¢ B 0550 50 A e0fdeh 550

Both A and B are false
28393616368, * A, B €0 DOGr @050
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Two solid steel spheres having radii in the ratio 1:2 are falling freely through vertical
column of a liquid, then the ratio of their terminal velocities 1s

1:2 Q)8 & R0 0 Bock &850y S igren 2.8 (B W00 T°50° RN
180H8 HBTHN)Y. TE3 DB Ire VNS

Options :

]
28393616369, # 2

28393616370. ¢ 4

W | —

28393616371. =

l!__nl—

28393616372. *
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If the surface area of a soap bubble is 4 mm? and its surface tension is 0.05 Nm', the
pressure inside the soap bubble is

(Atmospheric pressure = 1.01x10° Pa)

2.8 den) 2088 GNdSe 750 4T mm? HBAN TR deredseh 0.05 Nm™! eoond, es
D) e SHO kS0
(&880 250 = 1.01x10° Pa)

Options :

28393616373, ¢ 1.012x10° Pa

28393616374. # 2000 Pa

28393616375. # 200 Pa

28393616376. % 1.03x10°Pa
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A clock with a brass pendulum gains 1 minute per day in winter at a temperature of

20 °C. Another clock with a steel pendulum loses 1 minute per day in summer at a

temperature of 40 °C. The temperature at which the two clocks show correct time 1s
[ﬂbm;:,,g == 18 X lﬂ-ﬁ iIIDC.; Ustes] = 12 X 106 .JJDC)

2B S©80 $OAS 2.8 BAArE0 0500 & 20 °C &8¢ SO TaH 2.8 AN
500 JF0) e LS00, &8 S©%0 EORS I8 KBar80 domseo & 40 °C
SIS SG B2 2.8 ANA0 TO0 539 Srayehod. & Bocd KAArTre) DO
SerR)) B Gral|i9ed

(0288= 18 x 10 /°C; aiasy, = 12 x 10°/°C)



Options :

28393616377. # 30 °C

28393616378. ¥ 28 °C

28393616379, ¥ 27 °C

28393616380. # 25 °C
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Steam at 100 °C 1s mixed with 10 g of ice at 0 °C so as to get water at a temperature of
40 °C. The total mass of water at 40 °C is

(Latent heat of steam = 540 cal g'; Latent heat of fusion of ice = 80 cal g'!; Specific heat
of water =1 cal g1°C)

40 °C 5% K> HED rotoeks 0 °C 3 o> 10 g $50c50% 100 °C 58 e 26D
501G, @008 40 °C $& &), Ae3 Ineo (533073

(¢3 8 Hosfaao = 540 cal gL; ot (Hedssd (hFo =80 cal gt

&3 D30 =1 cal g1°C1)

Options :
28393616381, % 2 &

28393616382, * 10 8

28393616383, ¢ 12 8



28393616384, % 12.22 g
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An air bubble of volume 0.7 cc moves up from the bottom of a lake 10 m deep and at a

temperature of 7 °C. When the bubble reaches the surface of the lake at a temperature
of 11 °C, the increase in the volume of the bubble will be

(Take atmospheric pressure = 1x10°Pa and g = 10 ms?)

10 m S'é%) 58 7 °C &P fes ees) G0 0ierto 008 0.7 ¢c sddNBSTR0 ¢rd)
o0 DE E0end 0. &8s 11 °C &) 380 &N0Serd) THHIS) I o
2068 A& 8HBRTE0 S DEHSO

(58 S0 = 1x10°Pa; g = 10 ms? rr &nFod)

Options :

28393616385, ¥ 0.7 cc

28393616386. ¢ 0.72 cc

28393616387. # 1.4 cc

28393616388, ¥ 1.42 cc

Question Number : 98 Question Id : 2839364098 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If an 1deal gas undergoes a change in its state adiabatically then the relation between

absolute temperature (T) and volume (V) of the gas 1s

= C.' d
)

2.8 836) a0 VBRE :830 ToOS & 050 T}, DB &aX(11é8 (T) SHdakw
2009 0TE (V) 88 2020850

i C-”
)

Options :

-8393616390. % TV’ = Constant (9o~0%0)

1 i o
8393616391 TV Constant (porof0)

l_f= Constant (QT~0%0)
28393616392, % V'
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Two open pipes of lengths 1 m and 1.1 m are sounded simultaneously. If the air columns
vibrate in their first harmonics, the number of beats produced per second will be

(speed of sound in air is 330 ms™!)

I m, 1.1 m&résyen Ko Both S80S FEred 2.3 ard &0 B, & md Jogren
T3 TGS @D 008 LoD, DEDD &8 e9ddh; D osTe do; (TOS
&50 o5& 330 ms?

Options :

28393616393. % 7

28393616394, % 8

28393616395, ¥ 10

28393616396, ¥ 15

Question Number : 100 Question Id : 2839364100 Question Type : MCQ Option Shuffling : Yes
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An Indian submarine stationed at a place in the sea is sending out SONAR signals at a
frequency of 1 kHz. SONAR waves travel at a speed of 5300 kmh™'. An enemy submarine
is moving towards the Indian submarine with a speed of 100 kmh™'. The frequency of

SONAR waves after getting reflected by the enemy submarine 1s

NS0 & 28 1HBI0S o &) 8 PIS0H 2erosTN | kHz Frssydso o
Frb Ho8Erod Hoaod. Frb $8orren 5300 kmh'! SAS Hoiredran . 2.8 §&
2EFOST 2G50 BeroSTN Foy 100 kmh! SAS Schvendod. & 5|
2EPOSTD 9O TITN0 TOAODN D& Fard SB0rPe) T 0

Options :



28393616397. ¢ 1.04 kHz

28393616398, # 1.02 kHz

28393616399, # | kHz

28393616400. ¥ 0.98 kHz

Question Number : 101 Question Id : 2839364101 Question Type : MCQ Option Shuffling : Yes
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A lens forms a real image of an object on a screen placed at a distance of 100 cm
from the object. If the lens is moved by 20 cm towards the screen another image

of the object is formed on the screen. The focal length of the lens is

28 508 Dod 100 cm &rSSS Ko B8 28 L0¥o dz (D8D0rd)
G350, EosR) 20 cm 8539% E8OI8S HFE NaDosn BED
D8 3¢0e00. 90N §eE T2 058

Options :
28393616401, ¥ 12 cm
28393616402, ¢ 24 cm

28393616403, % 30 cm

28393616404, % 48 cm
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The electrostatic force between two charges in air 1s ‘F’. If the magnitude of each
charge is doubled and the distance between the charges is increased by 100%, then
the force between the two charges is

TOS &otadd Bodh ATrETe s PBE Dsd w0 F. 2,88, eddo
TBE) DBSTETR), B0y TR, el s0ddg o) 100% 000N, €3 sz S
D05 OO0

Options :

28393616405, ¥ 2F

[ e

28393616406. #

28393616407, ¢ F

28393616408. # ‘jF
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Light waves producing interference have their amplitudes in the ratio 3:2. The

ratio of maximum and minimum intensities of interference fringes 1s

53850 TOLH DO 5708 5B0MH0e E0Hr DB RIS 3:2 oNS
S5BEE8 HE3e> KO HBOK EAN B|Seder DD



Options :

28393616409, ¥ 30:1

28393616410, * 24

28393616411, ¢ 23:1

28393616412, % 3:2
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Two charges —2.5uC and 10uC are separated by a distance 0.5 m. The electric

potential at the null point 1s

Bod EFET TN -2.5uC O 10uC ¢3 Hg &Srdo 0.5m &oB Dorr
S TAHDAND. T3 863 DoY) B A FVYCHE

Options :
.
28393616413, ¥ 3 * 107V
3
28393616414, % 2% 10°V

4
28393616415, ¢ 43 x 107V

4
28393616416, ¥ 2 X 107V
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[n a potentiometer experiment, a cell of emf 1.5 V connected in the secondary

circuit gives a balancing length of 165 cm. If a resistance of 5¢) is connected
parallel to the cell, the balancing length of the wire is 150 ¢cm. The internal

resistance of the cell 1s

28 FRITT DOD (DTSRGS 1.5 V D05 o8 2080 50 0erd)
Teade0H0¢S EODNHI Dodved sy 165 cm. & HErdS 5 Q AT
DSPoSBOM EOVIYE Do ety 150 cm 0w 00 ©0é8) Bl

Options :

28393616417, % €2

28393616418, % 1.5 Q

28393616419, % 1 €2

28393616420, ¢ 0.5 Q
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‘n’ conducting wires of same dimensions but having resistivities 1, 2, 3...n

respectively are connected in series. The equivalent resistivity of the combination 1s

28 Soresen HB0K SEI™ 1,2, 3 ...n AFSESen $OAS ‘0’ aréd Sifen 385

$e00B8D. & Hodrtdn DO ATHES
Options :



28393616421, % 2

28393616422. ¢ 2

28393616423, ¥ 2n

28393616424, % ntl

Question Number : 107 Question Id : 2839364107 Question Type : MCQ Option Shuffling : Yes
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Two long straight parallel conductors are 2 cm apart and carry currents of 5 A and

10 A 1n opposite directions. The force per unit length of each conductor is

5 A 56050 10 A Dz H:BE BIoS D350 Bod N&ross afe
DG5ATE0 2 cm. € BOK TIFTO sDEF D7 FEHH AT 20
Options :

28393616425, # 5 % 10° Nm'!

28393616426, ¢ 5 * 10 Nm™

- 1
28393616427, ¥ 2 * 107 Nm

-8 -1
28393616428, % 2 X 107 Nm
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The correct statement among the following is
1808 7¢365° HOTDS TE 53w

Options:

The resistance of an ideal ammeter 1s infinity.
28393616429, % %8 8¢8) @85 AT e@Sodo.

The resistance of an ideal ammeter is zero.
28393616430, v &8 8G6) @068 JTGHO L.

The resistance of an 1deal voltmeter 1s zero.
18393616431, % 8 BG8) SO DO TG0 D).

The resistance of a super conductor is infinity.
28393616432, % 28 @3Sy ABG0 ®H0d0.
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The magnetic field at the centre of current carrying circular coil of radius R is B. The

. : . . B.
distance from the centre on the axis of the coil where the magnetic field becomes W IS

R 5ardoin SO DS 109570, 2.8 S9Tsd e <o) o180 $5¢ esdthary 08
30 B. & <08) 050 3 ©90HT,08 T (80 Dend %@(‘fx}; Doy gy Srdo

oo 301890 hod

Options :

28393616433, * RV2

28393616434, % 2R
28393616435, v RV/3

28393616436, ¥ IR

Question Number : 110 Question Id : 2839364110 Question Type : MCQ Option Shuffling : Yes
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Lenz’s law 1s based on the law of conservation of
B025 A0DN0 BTG Dedsed ¢ D00
Options :

Energy
28393616437, ¢ 38

Charge
28393616438, ¥ ©IF0



Mass
28393616439, % (OS950°3

momentum
28393616440, * (95310

Question Number : 111 Question Id : 2839364111 Question Type : MCQ Option Shuffling : Yes
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A straight conductor of length 150 cm moves with a velocity of 8 ms™ perpendicular to
amagnetic field. If the induced emf across the ends of the conductor is 3 V, the magnitude

of the magnetic field 1s

150 cm &% Ko 2.8 850 g0 o edbdros FEdd eonore § ms! Fros®

KhenioiB. o Db iy (208 emf3 V oand edhirod F¥ $0&mwo
Options :

28393616441, # 1.5T

28393616442, ¥ 0.75 T

28393616443, % 05T

28393616444, ¢ 0.25 T

Question Number : 112 Question Id : 2839364112 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

An inductor of inductive reactance 20 €, a capacitor of capacitive reactance 8 Q and a

resistor of resistance 16 Q are connected in series to an ac source of 200 V. The current
through the circuit is

200 (s (586%0 o 2.5 (is&D, 8 Q Ko (5860 Mo .8 TFBHES H0H
16 QB0 ffo 2.8 B (Be6° 200 V Ko ac a5sds 8018, Sodho wrioe ifyS

2aaF0

Options :
28393616445, % 8 A
28393616446. ¥ 10 A

28393616447, % 16 A

28393616448, % 20 A
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The relative permittivity of a medium is 2. If the speed of the electromagnetic waves in
this medium is 2x 108 ms", the relative permeability of the medium is

[Spee{] U‘fl]ght in vacuum = 3)( | [}8‘ Ins-|)

.8 airsEo Gng) FDE VBB 2. & airsses® deiyickIod Sorre K8 2x108 ms’

sond dirsto @wg) Y B34 ol

fref

(Eriy airis8os® 508 $& = 3x108 ms)

Options :

28393616449, % 2.5
28393616450. # 1.25
28393616451, ¢ 1.125

28393616452, ¥ 2.25

Question Number : 114 Question Id : 2839364114 Question Type : MCQ Option Shuffling : Yes
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Photoelectrons are emitted with maximum kinetic energies 1.2 ¢V and 3.6 ¢V when lights

A
of wavelengths A and E respectively incident on a photosensitive material. The work
function of the photosensitive material is

A
A S8cim — SboKde o0 Bo Poden &8 e g ) (MPadss Sorop DS emrodHd
) et 6 = 0=

Qo

Options :



28393616453, ¢ 1.2 eV

28393616454, ¥ 2.4 eV

28393616455, ¥ 3.6 eV

28393616456, % 4.8 ¢V

Question Number : 115 Question Id : 2839364115 Question Type : MCQ Option Shuffling : Yes
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The ratio of the speeds of the electron in two orbits of hydrogen atom is 3:2. The ratio of

the radii of the two orbits is
TEES SoirmPe Sotd EEpe* o Hbo A8 3:2. Both & e 8.

Options :

28393616457, % 2:3

28393616458, ¢ 4:9

28393616459, # 1:1

28393616460, # 9:4
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Half-lives of two radioactive substances P and Q are 12 minutes and 18 minutes

respectively. The initial number of nucleii of P and Q is in the ratio 1:2. After 36 minutes,

the ratio of the remaining number of nucleii of the substances P and Q is
Soth BAErGRE)% Sorgren P b Q @) ©F 208 seoren SHHe 12 dvaren HBA
18 doipen. P bain Qo &0 SoBere Sogge Y8 1:2. 36 Adire s P SHdd

Q dorro @) HAOY Sose Homge NGB

Options:

28393616461, % 1:1

28393616462, % 1:2

28393616463, * 1:3

28393616464, ¢ 1:4

Question Number : 117 Question Id : 2839364117 Question Type : MCQ Option Shuffling : Yes
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Which of the following statements regarding nuclear forces is true?

Bo|5% aere Sonobod & (Bod ms‘gmﬁﬁ JBDHS B ?
Options :

The coulomb force between two charges is much stronger than the nuclear force

-8393616465. % 908 s3Te D SABD Eraod veo SoBE vvo ol mrer 2oDKA.

28393616466. ¥



The nuclear force between two nucleons falls rapidly to zero with the increase of

the distance between them
Soth Spfairie g 6ok Someo M SHis drdo HONS eddEnorr dramds

SE SNV Vela)

The nuclear force between neutron-neutron is much stronger than the nuclear

force between proton-proton
Smglers -omg e Sotfy e Solls weo (DES-RrS gy Ko Soliss werd Kol

28393616467, # T OB,

The nuclear force between two charged particles depends on the charges of the
particles
28393616468, ¥ 0O gl Lo shig e 0|58 200 & Lo elTeD LEEHEHD.

Question Number : 118 Question Id : 2839364118 Question Type : MCQ Option Shuffling : Yes
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In the given circuit, the current through the Zener diode is

aéém&é Sedbod®, @5&5 EGrE wo° 55055 (Sardro

VAYATAN ANWA o+

250082 5000

7
16V

Options:

28393616469, ¥ 8 mA

28393616470. ¥ 6.4 mA



28393616471. ¢ 1.6 mA

28393616472, ¥ 3.2 mA

Question Number : 119 Question Id : 2839364119 Question Type : MCQ Option Shuffling : Yes
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Which of the following logic gates corresponds to the given truth table?

a@bR VeddE Bod ondwdd 2 &88) oo $% JowododHa?

Input Output
Qg0 Do
A | B Y
00 1
0 | 1
1 0 1
L] 1 y

Options :

28393616473. ¥ AND

28393616474, % OR

28393616475. ¥ NAND

28393616476. ¥ NOR

Question Number : 120 Question Id : 2839364120 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
A message signal amplitude modulates a carrier signal of amplitude 30 V. If the

modulation index is 0.4, the amplitude of the side bands is
30 V 805 56208 o &8 awied HSo8eeR) e S0l $08808° Soud H0MS SrtyPd

SRrt, SregBS Sr0 04 wond ar) § e Ko 568

Options :

28393616477. ¢ 6V

28393616478. # 12V

28393616479. # 15V

28393616480. # 30V
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The mass of a particle B is five times the mass of particle A. If the velocities of A and B

are 0.05 and 0.02 ms! respectively, then the ratio of their de Broglie’s wavelengths is

B &3 §290 GB0E) 18:9:07 A ©F 5600 T30y, (e 0728 90008 B, A 80805 B ©
Srrex S 0.05 5805 0.02 ms! eond aed GO $dof BTie NS

Options :

28393616481. # 1 : 1

28393616482. ¢ 2 : 1

28393616483. ¥ 4 : 1

28393616484, # 1 : 4

Question Number : 122 Question Id : 2839364122 Question Type : MCQ Option Shuffling : Yes
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What 1s the total number of orbitals associated with the principal quantum number n = 47

(DG 500 oS 1 =4 5 N0V0HONN B0)EFFIRTNB0 NOPS JOeS?



Options :

28393616485, ¥ 9

28393616486, ¢ 16

28393616487. ¥ 24

28393616488, # 25

Question Number : 123 Question Id : 2839364123 Question Type : MCQ Option Shuffling : Yes
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What is the correct order of second ionization enthalpy of Ne, Na, Mg and Al?

Ne, Na, Mg 08050 Al © & 5305 @BNRZAS 050 )0 B (500 87

Options :

28393616489, * Ne>Mg>Na> Al

28393616490, v Na=> Ne > Al> Mg

28393616491, ® Al=>Ne>Mg> Na

28393616492, * Mg=> Al>Na> Ne

Question Number : 124 Question Id : 2839364124 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
Isostructural pair among the following is

1B0B ¢3¢ 2.8 DA Q02600 £ 2508

Options :

28393616493, % S0z, CO:

28393616494, % 503, XeOs

28393616495, # SnCla, CO:2

28393616496, v CH,s NH|
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Which of the following is not paramagnetic?

1808 ¢3S’ HOPOH, 0 5520 BAB AO?

Options :

28393616497, % 0,
0+
28393616498, # 2

28393616499, ¥ CO

28393616500, ¥ NO
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Helium gas diffuses three times faster than a certain gas “X’. Its molecular weight (in u)

will be

SFOH0 rosn X ©F TS T 10551 Sarch BED DKo 50
To&e0d. I ezrdo (U ed)

Options :

28393616501, ¥ 64

28393616502, ¢ 36

28393616503, % 48

28393616504, # 12
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The molar masses of Cr(OH ), and IO; are Mand N g mol! respectively. From the

given reaction, equivalent weights of Cr(OH ), and IO respectively are

Cr(OH),, 10; © Jrerd $s5507hen S8 M, N g mol. a0 ) c8zod)
Cr(OH),, 10; o éversol eroren SSdm

Cr(OH), +10; —=—C10; +I”

Options :
M N
28393616505, % 2 3
M N
28393616506, ¥ 3 2
M N
28393616507. % 6 3
M N
28393616508. ¢ 3 6
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In which of the following processes entropy decreases?
B0B 23 522ES  (DBAROS” o' SiPHeodd?

A) A liquid crystallises into a solid
2,8 169050 08 Hrdorr 3388500 To 5o

B) 2NaHCO, (s) — Na,CO, (s)+CO, (g)+H,0(g)

2NaHCO, @) — Na,CO, &) + CO, (&) +H,0 (o)

C)  H,(g)—>2H(g)
H;(°) —> 2H (a°)
Options:

28393616500, v A only

28393616510, * A & B only

28393616511, » B & C only

28393616512, * C only

Question Number : 129 Question Id : 2839364129 Question Type : MCQ Option Shuffling : Yes
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Solubility of A3;X4 in pure water is ‘S’mol L™, Its solubility product is

A3X4 T30E), (rSe8aDes S mol L evaned o (Grselohererwo

Options :

28393616513, # S’

28393616514, % 108 S°



28393616515, ¥ 5184 §7

28393616516, ¢ 6912 S’

Question Number : 130 Question Id : 2839364130 Question Type : MCQ Option Shuffling : Yes
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When Calgon is added to hard water the following reactions take place
Calgon — xNa' + [YT

Ca® HY] - xNa'+[Z]"

Y and Z respectively are

S0 ) E6 23708 S0 (Bod BHdsen adibherown

soS— xNa* + [Y]"

Ca® HY] =»xNa'+[Z]

Y S8ckn Z e SSmr
Options :

28393616517, ¥ [Na, P; O] .[Ca Ps Oy

28393616518, * [Nas Pg Oy5],[Na Ca Py O]

28393616519, ¥ [Nay P O] .[Na, Ca Py O]

28393616520, [Nag Pg Oy5], [Nay Ca Ps O]
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Which of the following is not a correct statement?

B0B T3S DO DO T 58 5707
Options :

Lithium nitrate when heated gives Lithium oxide
-8393616521. % DO000 J (B & I TR OH0HOo e3)6 SN0

In aqueous solution Lithium 1s the strongest reducing agent among alkali metals
-8393616522. % ZOTHR0S 8 TS @508 20 §oHESE OBHHO

Lithium carbonate is thermally stable
28393616523, ¢ OO0H0 SEFITED 50 ) WS 50 D5V

KO: 1s paramagnetic
28393616524, % KO2 50 HT00HR), 085 OG0 OOl
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The correct statement among the following 1s

1808 a7¢36S° HOTDS s
Options :

Alkaline earth metals are more electropositive than alkali metals
28393616525, % SONYBE ST 5 DesTeh 8 T8 S’ §7) 0y



The first ionization enthalpies of alkali metals are more than alkaline earth
metals.

58393616526, % SOS T DG OTOTBENS Q06O )0 FELHYRE SSredar) J80S

Alkaline earth metals are denser than alkali metals
58393616527, ¢ SODYBE ST o T8 ST ), D80S

Alkaline earth metals are softer than alkali metals
28393616528, % SO B8 S'Fen FE SO E77) DYOBID
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Identify the pair of metals in the order with lowest and highest E; .. , (V) from the

YA

1808 738000 SN (B0 A%, KB E;wﬁ / (V) o o &' 2008
M

following

Hood

Options :

28393616529, v Al, Tl

28393616530, # T, Al

28393616531, * Ga, Tl

28393616532, % 11, Ga



Question Number : 134 Question Id : 2839364134 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Correct statements about Buckminsterfullerene (Ceo) from the following are

25 DAV HVBS (Cs0) %0 H020H0D (806 TS HOTS FPsen

A) It contains 20 six membered rings and 12 five membered rings
BACHOD &8 TEIS ) Se05ren 20, 0D S°8)N NS SOoTen 12
=Tol A OW)

B) It contains 12 six membered rings and 20 five membered rings

AN, 8 SBIR €0&) SOasren 12, 0D 5°6)M ) Seasren 20
e[ AoV

C)  In this all the carbon atoms are in sp* hybridisation
AA0H0E @), 8IS HBSreDgen sp’ H0¥BEEE0S GoLron

D)  In this all the carbon atoms are in sp> hybridisation
AA0HOH Q) 5°E)S HBSFEDHED sp” N0EGEEEE0S GOLran

Options :

28393616533, * A & C only

28393616534, v A & D only

28393616535, * B & C only

28393616536 * B & D only

Question Number : 135 Question Id : 2839364135 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The correct stability order of the following resonance structures is

1806 2 508 BE'RN) NTETe DB pBeb ¢ (500

+' o —
0 :0: :0:
|

1 = | + .
H,C=CH-C-H«— H,C-CH= C-H <—>H3C—C.H=C—H
(I (1) (111)

Options :

28393616537, % 1 = 11=1II
28393616538, # 11 = 1= III
28393616539, & I > 11> 1

28393616540, ¥ 1 > I > 11

Question Number : 136 Question Id : 2839364136 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following reagent(s) can be used to distinguish propyne from propene?

1S & 1S 0B K0S (800 T3S’  SBE0(en) &DTBTH
DDA QDT OW)?

A)  Br/CCl,

B) dil KMnO4/273K
v KMn04/273K

C)  0s,Zn-H0

D)  Na/ligNH;
Na / (¢5s5 NH;

Options :



28393616541, # A, B & C

28393616542, * A & B only

28393616543, ® A only

28393616544, v D only

Question Number : 137 Question Id : 2839364137 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify X and Y in the following reactions
1Bo& B58zeed X Hoain Y o Hiothod

Ca0+C—2 5X+00

X+H,0 » Y+Ca(OH)

Options :
28393616545, ¢ CaCa, C2H:
28393616546, % CaCz, C2H4

28393616547, ¥ CaCOs, C2H4

28393616548, # CaCOs, C2H»



Question Number : 138 Question Id : 2839364138 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following compound is most reactive towards Friedel-Crafts alkylation
reaction?

1808 73S’ 2 TS0 (HAS-(579) 8B}, HESE HBS” @eh10e HSHT
S 0EN0A?

Options :

28393616549, ¥

28393616550, ¥

28393616551, % .

28393616552, ¢

Question Number : 139 Question Id : 2839364139 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Lithium has a bee structure. If the edge length in unit cell of lithium 1s 352 pm, then its

density will be

(molar mass of lithium = 6.94 g/mol, N = 6.02 x 10* mol™')

D00 bee AT°)20 & EOR Goenod. T ArdE S & @0t s 352 pm
0NN *Q J°0|Led

(OO0 Irerd (35 7 = 6.94 g/mol, Na =6.02 x 107 mol”)

Options:

il
28393616553, ¢ 0-33 g cm

3
28393616554, % -5 & Cm

™3
28393616555, # 0.053 g cm

3
28393616556, % 23 §cm

Question Number : 140 Question Id : 2839364140 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the correct order of freezing point of the following solutions?
1BOA |THET® NS Fered Ty, DTS 100 IE?
| 0.1m Bai(PO4)2

II 0.1m Na>SO4

[11 0.1m NaCl
Options :

28393616557, ¢ LI = 11> 1



28393616558, ¥ 1= 11> 1lI

28393616559, # 11 =111>1

28393616560, ¥ Il =1=>1I

Question Number : 141 Question Id : 2839364141 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Given:
Cu* (ag)+e” — Cu(ag); E .. . =+0.153V
Cu'(ag)+e —Cu(s); E. . =+0.520V

What is the value of E:’_u:_ - ?

Cu*'(z®)+e —» Cu' (zo); E .. .. =+0.153V
Cu'(2e)+ e — Cu (»); E. .. =10.520V

E:'I'u:' Cu ;}mé Djoé?

!

Options :
28393616561, ¥ 0.520V

28393616562, ¥ 0.153 V

28393616563, ¥ 0.673 V

28393616564.



v 0336V

Question Number : 142 Question Id : 2839364142 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The thermal decomposition of HCOOH 1s a first order reaction. The rate constant is
3.465 x 107S " at a certain temperature, How long will it take for 87.5% of initial

quantity of HCOOH to decompose? (log 2 = 0.30)

HCOOH 3305}, &3 D0 (36 (55708 1585, 2.8 0 ed¥|ieh 56 985 Bew
0°0%0 3.465 x 107°S™. HCOOH (218025 meeseS” 87.5% Do BodmE o
500 2tRe0A? (log 2 =0.30)

Options:

400 seconds
28393616565, ¥ 400 0Ehew

600 seconds
28393616566. ¢ 600 EHen

200 seconds
28393616567. # 200 Een

800 seconds
28393616568, # 800 VEew

Question Number : 143 Question Id : 2839364143 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct order of electrolytes towards the coagulation of

hemoglobin?

808 T8S’ B DS 23,0880 H8 e[ §

- =

&) DO (Ze07

Options :

28393616569, * ACl; >BaCl, >NaCl

18393616570, % NaCl>BaCl, > AlCl,

18393616572, v Na;PO, > Na,SO, > NaCl

Question Number : 144 Question Id : 2839364144 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

List-I (Ore name) List-IT (Type of ore)
A. Calamine . Oxide
B. Copper pyrites [I. Sulphide
C. Zincite [1I. Carbonate-hydroxide
D. Malachite IV. Carbonate

808 T7¢3R) 2H6508
e | (Greéhdsd D) e 11 (freédnsd 8%0)

A 5O [. e3)56
B. 5200 2830 [I. 38)&
C. 2038 [1I. 58 )3¢-37 @38
D. &Sre>3¢5 IV. 833

The correct answer 1s
STeINESIN muNTe

Options :

28393616573, # A—ILB-1L, C-1IV,D-1II

28393616574, ® A—IV,B-IILLC -1, D —II

28393616575. v A—IV,B-1LC-1,D-1II

28393616576, ®* A—IIILB-IILC-IV,D -1

Question Number : 145 Question Id : 2839364145 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Correct order of boiling points of hydrides of nitrogen family elements 1s

JE2S Soen02) Lreste I BE © o1 Gaf|ide KO (EHo



Options :

28393616577, * INH;> PH;> AsH,> SbH,

28393616578, % SoH;> AsH,>PH,> NH,

18393616579, v SoH;> NH;> AsH,>PH,

18393616580, ® SPH;> AsH,>NH,> PH,

Question Number : 146 Question Id : 2839364146 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Hot concentrated sulphuric acid is reduced to SO: by

3B e Sor)85mrd) SO, ™ 5 aHidao T

A) Carbon (C)

58)(C)
B) Sulphur (S)

)5 (S)
C) Copper (Cu)

520D (Cu)

Options :

28393616581, ® A only

28393616582, * A & B only

28393616583, # B & C only

28393616584.



vA B &C

Question Number : 147 Question Id : 2839364147 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A): With dry slaked lime chlorine gives bleaching powder

Reason (R) : Bleaching action of chlorine is due to oxidation

)50 (A): 7 VEE BD ($30)0) & §05 588 262 DK A6 & 20O
5880 (R): €8S B0z ST308 80 ©835880

The correct option among the following is
& 1208 )50 HOTSO

Options :

(A) and (R) are true. (R) is the correct explanation for (A)
28393616585, ¥ (A) «D8AW (R) S8R, (R) @008 (A) 50 SO DedGe

(A) and (R) are true, but (R) is not the correct explanation for (A)
28393616586, ¢ (A) 0O (R) &0 8D, 572 (R) @303 (A) %0 D0TDS 3B 5°¢0

(A) 1s true but (R) 1s false
28393616587, % (A) QBTOAE (R) S8PSE 5°¢

(A) 1s false but (R) is true
28393616588, * (A) QORI 5°¢0 (R) SOQDIE.

Question Number : 148 Question Id : 2839364148 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



[dentify all the products formed when XeFs 1s subjected to partial hydrolysis
XeFs ) ar8 & 230 DN TSN )T 0] &8 170 HBosod

Options :

28393616589, % X€O3 only
28393616590, * € XeOs only

28393616591, # XEOF.:I., XEOZFZ ﬂﬂl}f

28393616592, ¢ AeOFs, XeO2F2, HF

Question Number : 149 Question Id : 2839364149 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of 1ons in aqueous solution will have a spin only magnetic

moment value of 4.90 BM ?

8068 T3S 2 @OrS © B0HK 20 (THR0S ) SO @OHA) 08 (2780

e 4.90 BM  csodnod?
Options :

J-2¥

28393616593, v Cr °, Fe
28393616594, ® Cr ~, Mn™

28393616595, * Mn", Ni

28393616596, ®* Co ", Cu™



Question Number : 150 Question Id : 2839364150 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statements from the following

120AFES” HOTS & s N800

A.  Both [Ni[CN] ] and [NiCI ]2 have tetrahedral geometry

j:l 0805» Nl(l ] e BoB0e3 8§ 500D 0% 27508 G0Enod

B. 4] 1S paramagnetic

4] DTG0 (00 B0LNoS

C) _CO( NH, }h:l3+ is diamagnetic

=

_CO[ NH, ]h]'h 80 Gair @008 (3380 BOENOH

=

Options :

28393616597, % A only
28393616598, * B only
28393616599, v C only

28393616600, # A, Band C

Question Number : 151 Question Id : 2839364151 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Match the following
List-I List-II
(Name of Polymer) (Monomer/s)
A. Nylon 6 I. Phenol, formaldehyde
B. Bakelite II. Ethylene glycol, terephthalic acid
C. Buna-N III. Caprolactam
D. Dacron IV. 1,3-Butadiene, acrylonitrile

The correct answer 1s

B0H ae3Q) 236808505
erdde — I erd)ee-11

(G)0E D) ([rJ0B/ew)
A TerS6 I >d,rom03rs
B. 586 I 2608 isS, 2OYOS escho
C. 205 -N . = &fer§o
D. BsS IV. 1.3 -arerdors, JES SR O
STl VN AN VI ALNTS
Options :
28393616601, * A—1Il, B-1, C-1II, D-1V
28393616602, ¥ A=IV,B-I1,C-1III, D -1
28393616603, ¥ A-L B-1IV, C-1I, D-1II
28393616604. v A—-1IILB—1, C—-1V,D -1l

Question Number : 152 Question Id : 2839364152 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following are reducing sugars?
1808 ¢35 DD & aHESe P58 Een?

A) Glucose
tirs%es
B) Fructose
@
C) Sucrose
Q(E’S
D) Maltose
NIOr
Options :

28393616605, % A, B only

28393616606, * C» D only

28393616607, v s B and D only

28393616608, * A, B and Conly

Question Number : 153 Question Id : 2839364153 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The artificial sweetener that contain chlorine is X and that contain sulphuris Y. X and

Y respectively are

5OS & SO £ BT X, H0)5 & EORS £ 8 SDTOS Y waws XY e
NoVNIp

Options :

Aspartame, Saccharin
283936716609, % SR YaD, EOS



Sucralose, Alitame

£8393616610. ¢ DESE, @OBHD

Alitame, Sucralose

28393616611, ¥ OV, WSS

Saccharin, Aspartame
28393616612, % V50, BRI

Question Number : 154 Question Id : 2839364154 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Chloroethane reacts with magnesium in dry ether to form *x’. When *x’ 1s treated with
D20 a compound ‘y’ is formed. What 1s *y’?

SE&TS g $i1656 S oS DyNaho & s 282 X’ & 2wod . X’ & D,0
& 385 200008 DEIB S0F0 ‘Y’ @00 Y @O HE?

Options :

28393616613, * Mg(OH)Cl

28393616614, ¥ C2HsD

28393616615, # C2Ds

28393616616. ¥ C2HsOD



Question Number : 155 Question Id : 2839364155 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify “x” and *z” in the following reactions

180& 8506 x HOAW z & HBo0A

CH,CH=CH, + H,0— 8550 5,

CH,COCH, — Mg ,, 80 ,.

Ether

Options :

[sopropyl alcohol, tertiary butyl alcohol
28393616617, ¢ OF DS 803FS, BOWDS ;DS eeyH*'S

n-Propyl alcohol, tertiary butyl alcohol
28393616618, % N- RS 8056, BOAHO aryBd eeH*S

Isopropyl alcohol, Isobutyl alcohol
28393616619, * P (FRO 80O, DY 2T PO B3I

n-Propyl alcohol, Iso butyl alcohol
28393616620, % N- RS @85S, & ariBd apd*S

Question Number : 156 Question Id : 2839364156 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The order of pK., values of the following compounds is

Bod SR Fare pKa Densder (S0

A: o-Cresol
0- 18>S
B: o-Nitrophenol
0-J S DS
L p-Nitrophenol
p- S DS
D: Phenol
DTO

Options :

28393616621. * B<C<A <D

28393616622. # A<D<C<B

28393616623. ¥ B<A<C<D

28393616624. ¥ C<B<D<A

Question Number : 157 Question Id : 2839364157 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is not a correct method to prepare benzaldehyde?

B0z 378 & SATE TOSrEE (808 ¢3S DO HOTDS HPE 5°¢5?

Options :

28393616625, #



H;

i) Cr0,Cl,, CS,
i) H,0

cocl
O H,. Pd-BaSO,

28393616626, #

CH,COCV AICL

28393616627. ¥

CO
HCVAIC],

-

28393616628, #

Question Number : 158 Question Id : 2839364158 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In which of the following reactions acetic acid 1s produced?
1BOB & 5556365 DREITN0 Ereh 1 @90 E?

(i) Mg | ether
L. H,CH,Br —7zs;
(iii) Hy0/H®

(i) [r‘tg[ NH, ]1]' /OH
(i) H*

.  CH,CHO

n.  CH,CONH, —22
v. CH,CN——

Options :

28393616629, * L I, IIl only
28393616630, ¢ 11, 11 IV only

28393616631, % L 11, IV only

28393616632, # L II, IIl and IV

Question Number : 159 Question Id : 2839364159 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify “x” and *y’ in the following reactions

Bo® B&s0S ‘x* LB ¥’ e H8osod

(i) LiAlHs _
X
(i) O ~
CH:CH:CONH: ———
Br: o
-

NaOH



Options :

28393616633, # ¥ = CH3CH2NH:> y = CH3CH,NH;
28393616634, % X = CHiCH>CH2NH: y = CH3CH2 CH2 NH:
28393616635, % X = CH3CH2NH> y = CH3CH2 CHz2 NH:

28393616636, ¢ X — CHiCH2 CH2NH2 y = CH3CH2 NH:

Question Number : 160 Question Id : 2839364160 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a Sandmeyer reaction?

1808 ¢3S’ 708 HADE HE5 IE?

Options:

28393616637, v CeHsNoCl—=222=> C;H,Br

28393616638, ® CeHsN,Cl—2— C,H,Br
28393616639, ® CeHsN,Cl—2>>C.H,OH

HBF -
-8393616640. * CeHsN,Cl———>CH,F



